Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002

0.001

.................................................

................................................

...............................................

——

o E
= E .
©  1.1H1- IR PP e
o E .
I F{AE - e
0.9F - k--cf-q-mrorrmrrmr e

107 1 10 prT (Ge\})o3

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

b

I
N}

I
AN

2

=
N}
w

Efficiency vs ¢

o 0.0]
]

Q.OO9 ;
(8] .
9.008E:
5 :
£).007F
o :

o

o

o

N
Illll_ll
*

o

o I
o N
FER T
i =T




	Contents
	Page 1


